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General Instructions:
(1) [ he question papet compr: o o thiee Sesions A Han /7‘ s gttt Y

sechions,

m) All questions are compulsory

{t11) [here is no chowe i any o the g 1em

() All questions ol Gection-A, Section-D Cad Sedhon Lo e bt

iv) Question pumbers 1 to 3.mn Section-A ane one mark raadwirs  The oo =
answered inone word or in one serivmy

(i) Quustion pumbers 4 to 6.0 Section-A 21e wo marks quast e Phsa v i
answered about 30 words cah

(Vi) Question pumbers 7w 18 1 Section-A a7¢ three marks qoostors s 7 i
answered in about 50 words cach

ive marks quuestions s c

Question numbers 19 o 24 1 Section-A 2 1

sredd N about 70 words cach

numbers 23 10 3 n Section-B e
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Appropriate response out of the four provided to you.
™) Question numbers 34 to 36 in section B are two marks questions based on P L
. skills. These are to be answered in about 30 words cach
(xi) Question number 37 from section C s based on Open Text themes and s of 10 marks.

al

HIT-AH / SECTION-A

1 fedt wramy 1 Swfza 0 A @49 wfevs w0 & W fafao !

\Write the names of three clementary particles wcii constitute an atom.
2 figz 7aa aui F] A A wEAn g & ufgfam s F ofmma A7 2o\ A o Bl

Identifv "A” and "B’.

RCENEL]
A pore bearing nPMcSBh- creature ‘A7 belongs to a phyvlum "B of Kingdom Animaha
3 1A 2rEm & afrurn fafam @ 1

Define green house

4 s -fafere afsenfar nowen v e O}

%,

rs

Fxplain, what s Organ specitie maniestotion

> fgauy ¢'ell W amiEn ad & uam a1 3tva e 2 ‘y
What is the purpose of using curved cethings in ainemia hall (
O S AT T R UR MZ fSEW 4] ni4d B fawar 4 & oA atestes @i 2

Compute the speed ot 2kg ball having kinetic energy ot 4

oF AF M AT § JOE W SEEEE a9 % faom TRAfTF gAM O ) T F FTAI AR 3
Fian | A M eE2 aqr Az F mraaE ga fAfae

An element M burns in oxygen to form its cv.de Raving the formulae M 0. Find valenty of the
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element. Write the formylae of its sulphate and bromide

o

(44550, B Framm smsii 71 den wfrwfem Fifm r

(b) ﬂﬁmmﬁmwmmmmg%a\m%wmmm
(s H) Fn g2

(a) Calculate the number of molecules of SO, present in 44 g of it.

(‘k} If one mole of oxygen atoms weigh 16 grams find the mass of one atom of OXygen (in pras!

9 (a) TF A" ] {N 5 & F WATAFA A FIfA0 3

(b) TF 3 Fm fafay foa# a@n f@d 73 F gmenfIs wivie 2 oo a0

a2

() ﬁﬁﬁﬁmmﬁ’f’/émdr?m?ﬁi’mt:
(a) Derive the valency of an element »

x(‘bj Name the subatomic particle whose rigme

oM. number S

%umr " isotopic species of an element
(c) Name the element which Ras Ao neutron o O
10 94[ o FA W amA Ewa A oenboorlr vt y“"’ W) AT § AR RT3

g w) TAM By 3 arn PR R A e o v 41"‘(.\ B @ s wra
¥ a1 A Aw o A g w by A et o wew & g wea 2 g A

farq ya4i F 3 2fan

-

(1) ST AR v s 1 a6 ferd s oasefas! &9 wnfen )

() mwg fa E ARk dm aan feors wn w7u 22 wwA B0

(1i1) Tt v 3 fR 3 T A = R

. | . ot and o it e
Naveen s hving moa coal field area: w here thess 15 a theemal power plant and 2 &
JVIR N ' ,
: . M " a Hng hrom
wustry nearby his townshep He observed most of the people of that area are suflenin T
” A Is . ) . = ¥ oy 5 \ (RY 4
wory disorders. He also gets sick due to heavy dust depomited evenvwhoi ‘
FOSpIEANO ¢
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d]nnv‘_;' ‘o P
& with his friends planted a number of trees on road side.

Answer the following questions :

(1)

| According to you which precautions should be taken by the
this ? .

local authority to heck

(n) Suggest some preventive measures to be taken by the people of th

at area.

(m)  Why Naveen and his friends took such an initiative ?

11 T- v 5 X & . .
hﬂfmrfmmvwmmmq

Kingdom classification -

Amocba, Euglena, Birds, Herbs Cats, | nl\.\}
12 gfrrfra #ifam O)\

() T2 (b) T2 TA () T

FTE A1 S| Arew fefen s/
Define ;(

() thrust (I:lbun\'.lnl force (¢) pressure

Cave SIunit of cach.

13 Uk AAF AT B IWA T R @A R AN vAm A & AT 0 AN T 1 g

UONFT YT HOTE F1 G g 21 4fe am § safa #) A 335 m/s 9 oA de s
17 B fRaE @ woan?

A boy watches Dusshera celebrauons from a distance and sees the effigy of Rovana
burn into flames and hears the explosion after 2 sec. How far was he from the ¢fligy
it the speed of sound in air was 335 m/s.

“:f‘ 4 Of 15
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EAI s ) o
A e feafrm
i = | ITE S E6E fafau (0N am w uw Tew gm s oen T 3
2 F”rl'{ 7 IHF Uy F AAFT 2 m Eq
Detyne thrust
and prossure Gy s .
i _ Ve their SI unit. Calculate the pro CONOT L
weight 10N of the Surface arca i Comt ¢ Woprossure exerted by a block ol
15 : &
4“Lm".’_3cm*ll)(m farrnﬂr qeq wkgWWrra:aaﬁg;mem%- 3
T = : T T AR

16

() 10 em x> 25 ¢m

(b) 4em * 10 ¢m
CMois placed on atabl, top

A block of wood czy. 5 kg and dimensions 40 cm = 25 ¢m x 10
LS8

Find the pressure &thc block hies on the table top with sides of dimension
(@) TOcm x 25 ¢m

(b) 40 ¢m * 10 cm %

S kg ZTFAMEA FOTF {7 |15 #v'gw

¢ = ) m/ )

Hifgm F1 A ® ImF gm oremm w0 of Cafrsin g
A man whose mass s 50 kg moses up 15 steps .»:.pu.;hs 15 cm i 43 seconds of Lime
L IR T Y

Calculate the pover vsed in cimimg v

(v = 10m/) '9/

1 T ) A A el e e b (

State the role ol plantv. in preventing sod eroson ?

) % wrA faf A o fafag @ SR ¥ o F sam ¥ P o by

) sem #ifan fe ag s fem g e &0

() Nanme the man-made compound resporsibie tor the depleton o the oromw Lo
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L Explaim how does this depletion happen ?

19 (a) AT o et fami § # A fremm a8 2w wms e
(i) X =23
Gi)  Y-3.82
(i) 7-289

(by F4fan F arFA® fa=mm fafc v am 38 garswan g@ it

13, 33

8,
(a) Which of the (ollowdn, onic Configurations are not possible ? Give reason

(1) X-284 /‘(
(1i) Y-382 }0

(111) Z-289

Fluonne - 9, alumimium - 1Y argon I8

(l’) ‘\'r|tl‘ \'Il'\ tronic ¢ ‘”"l‘?_:llr-ftll"‘\ o "M‘ I.ll‘\‘l‘-f'n‘lt\l\ ‘n‘\' Pr\.\h\.t tl\\\]r \ \\\\‘nk s

20 [ v ezt g anm e

™ [ an b o | e # |
STEIT 7 A '

: 1

nfqeFam my | aETm - RIS A .

i o |« Riw ¥

— p— T ] RN T ;
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l; Fill the table with appropriate term.

|
' Discase Microbe Target Organ Mode of

Transmission
‘ ates s~
| Meningitis Virus Y Fecal
contamination
" A 1\}‘].{:1’ _l
“Hepatitis A\ Ve (0 Contamination l
: water
1 (d) - Bacteria 4 | | Lungs __(e)_aa |
! ' 1
| Rineworm Funguq y & 4 (f) AL~ Indirect contact
o . '

L I;'{ l-‘ ir‘ '”‘" ( |
i el Virus ; ;““.’53 [ S |
i e S T ¢ —1 Ty
| De ngue fever j_j____m T Wi ”n.l? | oy

fora 7 fzmam T ArA) 1 e w0 A sEE g ' ’lﬂh‘F am ferfam

(1) T wrAR ad faren a A ferfoga |

qrTA @3 W1 &1 @ AN 1A A s 2 B

RQLL;«AI‘:C'“W - At.fort.s }
{_be[)rlw[c C/&

rite the commaon name and screntihic

yanism shown in the picture and w

|
| (0 Identify the org
! name of the organism.
i
[
{
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(l:’ < Y 1 be
) Name its phylum and Kingdom. N n ne ledle ) PL(} foe fm "hm

\% (|) \,V‘hi(l] ) Al )fi ] \“ ¢S \lt n 10T ll urs \\l]!'! 1151
or an ¢ ‘ f
j..'t i”,k \ \ - ) I'n;l]\‘ s]rl(l ”1
1

SMC\” &V\H\l’th}_

22 R & s

(a) fararfod 5@ # wr o )
(b) ITAEA A H FN TraAd mm >}
State the laws of floatation ? O}

Define Buoyancy. State the tactors on vl b b @08

A boy gets into a floating boat

(a) what well happen to the weight ot water displas v

(b) what will happen to the buovant foree ! ;(

2 g omw FW § frmma An e s am P oo s
T @A § §eTE T

(b) a3 &9 #1 sera 1 s fafau ‘

mﬂmwmﬁ#f&uﬂmmﬁﬂwqanw

mmﬁ‘milmmmm‘ﬂh¥r:

N re T8 b
) Name the three bones in our muddle ©an ahih  hilp
. . . )
[ 'lmphﬁcations of the vibration ot sound.

(©)

r U‘IS
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(b) G :

( ve the audible range of human ear.

¢} Name ¢
o that part. of the human car which helps
P sSsure varmations into clectne signals. How A
interprets them as sound?

N converung

24 : . ;
(a) T {9 TF TATH] FT TAT G2 F W00 FAq ® 1 T fF o g 7
(b) ST I A TR g A R0 T RN F qfe

() Use of fertihzers for a long period causes soil pollution. Fxplain it

(1) Water pollution leads to soil pollution. Justify this statement.

um-a/SECTlON B

25 mmmg@‘ahﬁwwvﬁwtwr \
(.1) VE REI

I ‘ oSl it s " ey

Ihe wave property of sound w

(o) Intensity O Wiy

(©) I’itch "l

26 7%\:111‘27’11&11111’11!\"%1)\1Wﬁm@l"r*ww'mr

(a) 2545 ’a (b) 5115 1"a

© 200001 () 2500 1%

\ arcular pillar of radius 25 ¢cm supports a weight of SOON. The pressure exerted on the Har

s
() 2545 1N (b) 515
/ )

() 2000 Pa (d) 2300 Pa
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’WHUWWW%nmﬁmmmmqmw-,mwﬁw S QIEATE 25 W A
AT TEAE 755 ol At v T A e e F A g e e g
(-‘)L/7-"—”““'(B)/L/:-)mri‘(u‘)L/ZSrm‘(d) L/10ms !

A strong transverse horizontal pulse is created at one end of a string. 1t completes 10 jourc <

along its fength, before fading out. The initial reading of the stop clock use
was 25 < and the final reading was 75 <. If the length of the

the speed of the pulse, through the string is

d in the experinent
string for one journey is | moine

() L/753ms " (b) /5 ms-t (¢) 1./25 ms-! (Jd) L/ 10 ms-t

28 fem o fo wgAfrm o il o0 21 o sm A p C aw D fantor 0 F

(1) (N (CyFF Tz (s #m

(b) (A)H7™ OV EETIET (D)FTA FM
() (A)9™™ (D)@ &h
() (A2 (DyErE M

- ~ . l - r { v 1
II} . AN ¢ . L v l“- llt'\' ] \ ) ( . .
v T l] Ture 1s 0 f ra 1 IS lllﬂ h\' P!!l\ “‘lil at ’
L ! . > f Iun.‘ Iy NS l ~
" "‘

n'|\|l."-L‘l\l‘~ .

‘ e D)Capsule
: (BRhizowds  (Cseta (D
A ( \) oot 2 e
f ]\) { MIRhzoids (B ot l(_\;t ';\ {.r[:'\_( ‘:p‘me
¥ \jRI\II\\I\f\ (Biseta () o f ! ..[M(.mpe-;-.!c
b :[\ll oot (Biseta (CORhizonds ]
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a2 ﬁqﬁiﬁmnnmﬁmmm,zfmmmem$ﬁwﬂm4 1

F13 F fem afi F& 27

() Hazm wfuyfma by e wfutsa
(c)  feefF sifufen (d)  FfuE sfufzn

Which of the following reaction is not suitable to ve nfy the law of conservation of mass in a
chemical reaction ?

() Precipitation reaction (b) Displacement reaction

(<) Redox reaction (d) Nuclear reaction

V

30 1 et ﬁqﬂﬁmwtmwﬁmrmiﬁ!m%ﬂﬁ?ﬁml
fera=t 2mi 2

N>+ H: -2NH\

@ 2 3

For the following chemical equation, fdhe x faton of mass s correct, what would
be the number of Hy molecules * N+ H IN| }

( a) 2 ( h) 3

31 9 famnfeln A, B, C @0 D A wwE & I o0 ouor o LSS U T B ULV (R

fr=r wam fror few) w@ fawe *1 wrams a0t
o Ft ot won R 4=

(b) f5rit g awn fgAtawsh A9

(¢) THET FE AW THFAAG WA

\yﬁmgﬁamf:ﬂhﬁﬁa

- lowers and seeds of maize plant. Thev have
Four students A, B, C and D observed the tiowers and seeds of mawze § v

» i1of15
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reporte > . )
Ported their observations as follows ldentity the correct option :

\yrlmcmus Hower and monocotvledonous seeds
(b) trimerous flower and dicotvledonous seeds
[¢) pentamerous flower and monocotyledonous seods

X (d) pentamerous flower and dicotvledonous seeds

2 =1 o3 &1 sEerfea #7798 AR =

(a) TFATATA #1
() fAtaTa =1 faed

(c) TFATATA F1 TN A
(d) »:-,"ﬂ?l"ﬂ"! F1 T ™ }

Observe thv dm;;rmn belos amd oh O
I{/ ( '\ @/

\/,,

(a) trimerous flower of monocotyledonous plant

(b) trimerous flower of dicotvledonous plant

low ; -otviedonous
Mntanwmus flower of monocoty

(d) pentamerous flower of dicotyiedonous plant
[ & ¥ .

plant

33 o che
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@) T (b) fagr

(¢ = [

) qz (d) a

Feedin 2 8

structure of 1 i

‘ adult Sq '
(a) antenna (L) hmdt e ;
C . pon :
£ ) proboscis () wing

34 wmmmﬁmmmmmﬁMwmuﬂmmﬁ’vﬁqmmﬁHZ
fafu= 511 | vt W A, B, qur C YR W T A e 3

Mo (hange

(A) (B) O
2 T 9w o wma o T wn A o o )\nm.

A given solid is weighed inair using a spring balande Teis then we u.h /nnnu ramng it fully

Juown

inn each of the three vessels A, B, and Coontameng: o
| |
| | (

|

......

._,,H_h_
t

< PSP W T &Y S

—

W N /

. Tawd

e
i.\\
i

('\) (B) ..‘.\.ﬁ.)‘..........s.a-....'....n-.......

....III.I.II..
N wum. Give suitable reason tor vour

. \ e solid will be munu
in which vessel the weight of the ¢

answer.
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> ﬁmqﬁfwfaﬁa%ﬁmmﬁmfn?fm‘:??‘erqmﬁaquammswm fapean 2 2/ 2

State the condition under which an oliect loats on the surface a hquid. What s the volorme of
the liquid displaced by the object

’ PRl 90, &1 AANEIEF ST F73 F 9vEd gEI A I BEAR Az § 03 2] avad 2
fFm | FA T 21 AN ] FTAFA TTF I T TR 573 2

After observing an earthworm caretully. Samir decided to place it in phylum Annclida, W hich
two features did he observe that helped him Jdo

4

W~ 7 . Section - C
(* Please ensure that ope @m given theme is supplied with this  question paper)

Theme-1 (Clean Air-A shared Ce :{

s07?

10

(a) ITCFJ fava § &nn @1 gen -
% fau ufa ad vg faan o0

a3 wuv fafyre ar oo v

Iy atan

(b)  AREUEZA W O, F T H g o ey

@ﬁWhmﬁt* T ‘;ﬁ:f:!f- 3 T Y / T e ea e Bar i o 1 o
s ~ - - ’ he ' ', L. 3 -y + J ?Tr { i S-I A”,]} ;‘ !‘ ‘{ ) ;‘];J

il )y F A FW A Pl AavpiT R i
At fae 21w & Am et

(@) Anannual eventis celebrated worldwide to seasitize people towards import inee

(8 i < .

of preserving carths’ atmosphere. Identity the event, its date and give any three

reasons to correlate its importance with our wnique planet.

" ~ LRT ‘. TR TR IALS -|'l‘y .

(b)  Fnvironmentalists have alwavs been raismyg their voice against the wcreasing ¢ rbon
dionide level in the atmosphere leading to oveessive heating ot the varth RERRTY

S 47 wo Dresend 1im the « oarth

Wit is the phenomenon called 2 Name the green house gases present i the corth

wmaosphere in their increasing order of abundance. Name o mam sooees
.

S . 3 17 { \}\'n ~
¥ ; csave roelease of carbondionade in the atmosphere
nwp.nmb]o fOT CACCSSIVE TS Of
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